Fluentin Five - Year 6

Week 3 - Day 4
N = T8 4 U<
DAt et SCROOLae e
ClaSS it eeeeeeeeeeeeeeeeeeseneeeennaeens SO et eeeeeeeeereeeeneeseneesennnns
1 96+ 7=
1 mark
2 32,764 -21,863=
1 mark
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Fluentin Five - Year 6

Week 3 - Day 4
3 9.38 +100=
Imark
4 91+30=
1 mark
5 674 x6=
Imark
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Fluentin Five - Year 6
Week 3 - Day 4

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

l_n

. 996+ 7=1,003 (M)

2. 32,764 -21,863=10,901 (W)
3. 9.38+100=0.0938 (M)

4. 91+30=121 (M)

5. 674 %6 = 4,044 (V)

14 For more free resources and intervention support go to thirdspacelearning.com



